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EXTERNAL VOWEL SANDHI

What happens when the final vowel of one word
comes into contact with the initial vowel of the
following word?
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External vowel sandhi refers to these processes.
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We need to talk about final vowels that are “immune” to
sandhi. They never change, regardless of the sound that
follows. These vowels are called pragrhyam, and they are:

S afinal i, 4, or éinthe dual (e.g. kavi, guru, séné)

S the final vowel of ami (“those,” masc.nom.pl.)

Be careful about applying vowel sandhi in the dual
nominative-accusative.
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=i THREE PROCESSES
| Vowel sandhi has three main processes:

S synhaeresis (fusion) of similar vowels; or

S the fusion of dissimilar vowels in diphthongs,

S orthrough glide formation.
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When a simple vowel (a/4, i/, u/a, r/r) is followed by a
vowel of the same quality, regardless of its quantity, the
result is a single long vowel.
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When the high vowels (/1, u/a, r/r ) are followed by any

dissimilar vowel, they become the corresponding

semivowels (/1Ko yaN aCi).
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“yagun‘ here”
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GLIDE FORMATION
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Result:

“honey here”
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“the doer (n.) here”
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GLIDE FORMATION

Something similar applies to the diphthongs (¢, o, ai,
and au) as well: when they are followed by any other
vowel, they “resolve” into their original segments,
sometimes with additional developments. Let’s look at
each one:
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GLIDE FORMATION
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“these are them”
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- GLIDE FORMATION
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The same thing happens with 6, as long as it is not
followed by the vowel a:
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GLIDE FORMATION

L # A

Result: .
|[gauaisanam]
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GLIDE FORMATION
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Result: .
[gavaisanam]

[(¢ . »
cow-seekin g
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In the case of ai and ¢, the resulting glide is lost:
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% GLIDE FORMATION

N

e

XL IS STy LSOV ALLUWITETE" . o RSSO, e
ezamea & = § ik Wi
! B OR | oz i 7 v |

= |l A e /] A L 1A
A o E !
Ay o RN s W\ |

(FA v Y =2 I\ A S 4 Uy
) AN ¥ o NEH B
AN N i R
e NS5 B
ot~ - -~ b atod

A
o

B

¥
i3

LT
m——
-

"

o .}‘\'»‘

2=
I
&
&l

i
S
3.
<
~

“In this faresz‘”
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“In this faresz‘”
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Result:

“In this faresz‘”
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When either é or 0 is followed by a, however, € and 6
remains unchanged, and a is elided, and replaced in

writing with an avagrahabh (9).

(Every instance of final -6 that | can think of is really an
iInstance of final visargah, so | will discuss those
examples in the context of visargasandhih.)
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Finally we can talk about a final a or & that is followed

by any dissimilar vowel. These will result in the

diphthongs:

(EED (ERfy
e g ol 4N
N RS T
EsOS a4l (4
B S ‘\;_ 250 4 > |
i QA i
' ]
¥

1 E_,o
&&In&.m



DIPHTHONGIZATION
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2 DIPHTHONGIZATION
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“then 1t was said’
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DIPHTHONGIZATION
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“Just like that”
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